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P(X=0)=1/8
JiFLL P(X=0)=P(X=3)=1/8; P(X=1)=P(X=2)=3/8

dice:={ 0,1 }
»{o1)
n1:=320 » 220|
list1

:=seq(sum(
1‘andSamp(dice,3)),r’,

1,111)
RTH FAELS 77 (Theoretical approach) K4t v 122112322
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#= (8] (sample space), Mk, ©={(0,0,0), (0,0,1), (0,1,0), (1,0,0),
(0,1,1), (1,0,1), (1,1,0), (1,1,1)}, —FL 8 NER, Mfpgs EREMRE
i) Cequally likely outcome)

L X=0 8 3 INH 1 MR, 2 X=182 A7 3 Fhgh

T LL P(X=0)=P(X=3)=1/8; P(X=1)=P(X=2)=3/8
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solution:  Sample space Q@ ={(x,y)|x,y€(0,1)}

All outcomes are  equally likely ,S(Q)=_1_

Let E represent The required event ,
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so P(E)= ()
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mum:=2000 » 2000 |

W% B RARMER AT HE RS A M 2 Bist1: =seqrend()x. 1,

L '[0.4352?5,0.12?66
list2: =seq(1‘and0,x, 1,
nu.m)

* '[0.913195,0.33683

list3: =,/ list1 2 +list2 2

I

©2013 Texas Instruments Incorporated Page 2 of 3 Author: Jb5TTT 101 2= ff A



{i’
TEXAS INSTRUMENTS

BEHLELIL (SR8 J5ik

WL

{7 TP P I S & (<R A T R 4

FO)=e" xelOI] ypgpaetrm. 12 x=1 HREE

TR

num:=1000 + 1000

list1 =seq(1‘and0,x, 1,
num
L [ 0.172614,0.10822

~_numl .

num

list2 =seq(1‘and(),x, 1,
numn

L {O 117898,0.73237 i
list3 =ifFnlist2
«f1 flietl‘ 1 f\‘
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3. CHIREL f(x)=x2—2ax+b2, a, be R.
(V)% a MNEE{0,1,2, 33T —I0EK, b MEE{0,1,23 1T
W—ANTCE, R f(x)=0 A A A AR E SLAR A
(2% a MIXTAI[0,2] AR — N4, b X TE][0,3] FAEH — /N4,
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